
 3/3/2023 2023 USA RETAIL CATALOG 

MINI SWIFT - 60cc USA



3/3/23 Page 2

 HEAD AND CYLINDER MINI SWIFT USA 

 POS PART # DESCRIPTION USA RETAIL 
1 A-61041 CYL. HEAD MINI PRO-M 204.66$                  
3 00352-K 20 HEXAGONAL NUTS KIT M8 4.59$                        
3 10351 LONG CYLINDER HEAD NUT W/TECH WIRE HOLE 15.86$                     
4 00303-K KIT OF 20 WASHERS M8 1.90$                        

10 A-61047 HEAD GASKET 0.05mm 5.08$                        
10 A-61048 HEAD GASKET 0.10mm 5.08$                        
10 A-61049 HEAD SPACER 1.00mm 30.57$                     
11 EBP-85045 CYL. GASKET 4/10 PUMA/GAZ 3.56$                        
11 EBP-85046 CYL. GASKET 2/10 PUMA/GAZ 3.56$                        

13A A-61031USA COMPL. CYLINDER MINI PRO-M Spec. USA 594.87$                  
17A A-61880-C KIT CONVEYOR DRIVE SIDE AIR 28.84$                     
18A A-61881-C KIT CONVEYOR MAGN. SIDE AIR 28.84$                     
20 00267-K KIT 20 SCREWS M4x8 5.08$                        
21 00319-K KIT 20 WASHERS M4 1.95$                        



3/3/23 Page 3

 PISTON MINI SWIFT USA 

 POS PART # DESCRIPTION USA RETAIL 
50 A-61320 PISTON PIN mm12x35 v.'07 21.23$                     
51 10342 CIRCLIP 12x1 2.29$                        

52A A-61051-CR PISTON MINI-SW'07 41.80r 86.01$                     
52A A-61051-CV PISTON MINI-SW'07 41.80g 86.01$                     
52A A-61056-CR PISTON MINI-SW'07 41.82r 86.01$                     
52A A-61056-CV PISTON MINI-SW'07 41.82g 86.01$                     
52A A-61061-CR PISTON MINI-SW'07 41.84r 86.01$                     
52A A-61061-CV PISTON MINI-SW'07 41.84g 86.01$                     
52A A-61066-CR PISTON MINI-SW'07 41.86r 86.01$                     
52A A-61066-CV PISTON MINI-SW'07 41.86v 86.01$                     
52A A-61071-CR PISTON MINI-SW'07 41.88r 86.01$                     
52A A-61071-CV PISTON MINI-SW'07 41.88g 86.01$                     
52A A-61076-CR PISTON MINI-SW'07 41.90r 86.01$                     
52A A-61076-CV PISTON MINI-SW'07 41.90v 86.01$                     
52A A-61081-CR PISTON MINI-SW'07 41.92r 86.01$                     
52A A-61081-CV PISTON MINI-SW'07 41.92g 86.01$                     
52A A-61086-CR PISTON MINI-SW'07 41.94r 86.01$                     
52A A-61086-CV PISTON MINI-SW'07 41.94v 86.01$                     
52A A-61091-CR PISTON MINI-SW'07 41.96r 86.01$                     
52A A-61091-CV PISTON MINI-SW'07 41.96g 86.01$                     
52A A-61096-CR PISTON MINI-SW'07 41.98r 86.01$                     
52A A-61096-CV PISTON MINI-SW'07 41.98v 86.01$                     
52A A-61101-CR PISTON MINI-SW'07 42.00r 86.01$                     
52A A-61101-CV PISTON MINI-SW'07 42.00g 86.01$                     
52A A-61106-CR PISTON MINI-SW'07 42.04r 86.01$                     
52A A-61106-CV PISTON MINI-SW'07 42.04g 86.01$                     
52A A-61111-CR PISTON MINI-SW'07 42.08r 86.01$                     
52A A-61111-CV PISTON MINI-SW'07 42.08g 86.01$                     
53 A-61150 PISTON RING 'L' 41.80X1.5 34.69$                     
53 A-61160 PISTON RING 'L' 41.84X1.5 34.69$                     
53 A-61170 PISTON RING 'L' 41.88X1.5 34.69$                     
53 A-61180 PISTON RING 'L' 41.92X1.5 34.69$                     
53 A-61190 PISTON RING 'L' 41.96X1.5 34.69$                     
53 A-61195 PISTON RING 'L' 42.00X1.5 34.69$                     
53 A-61200 PISTON RING 'L' 42.04X1.5 34.69$                     
53 A-61210 PISTON RING 'L' 42.08X1.5 34.69$                     



3/3/23 Page 4

 CRANKCASE & CRANKSHAFT MINI SWIFT USA 

 POS PART # DESCRIPTION USA RETAIL 
25A A-61486USA CRANKCASE ASSY MINI USA 485.49$                  
26 00049-K KIT OF 20 ALLEN SCREWS 6x45 7.18$                        

26B 00051-K KIT OF 20 ALLEN SCREWS 6x55 10.00$                     
27 A-61345 CYLINDER TIE-ROD 8x116 8.34$                        
28 F-10425A OIL SEAL TCWJ 20x35x7 18.31$                     
30 10410 STEEL SHIM O.O5 3.56$                        
30 10407 STEEL SHIM O.1O 3.56$                        
30 10409 STEEL SHIM O.15 3.56$                        
31 10400-D BALL BEARING 6204 C4 26.50$                     

32A A-61615A CRANKSHAFT MINI/BABY-SW'07 757.92$                  
33 A-61385A DRIVE S.H.CRANKSHAFT MINI/BABY 234.49$                  
34 A-61390A MAGN.S.H. CRANKSHAFT MINI/BABY 234.49$                  
35 A-60440 SMALL END CAGE 60cc 12x16x16 14.79$                     
37 A-60450 CRANKPIN 18x40 mm 32.35$                     
38 B-10431 BIG END CAGE 15 R 48.05$                     
39 E-38436 BRONZE WASHER 8.34$                        

40A A-61455-40 CONROD mm 88-pin 40 MINI'07 315.72$                  
41 11715 SHAFT END/SPROCKET/MAGNETO KEY 3.56$                        
42 10375 MAGNETO/SPROCKET SHAFT END KEY 2.43$                        
45 00382 NUT M10x1 2.29$                        
47 00302-K KIT 20 WASHERS M6 1.81$                        
48 00059-K KIT 20 SCREWS TCCE M6x12 4.88$                        
50 00305-K KIT OF 20 WASHERS M10 7.47$                        
51 D-95800 PRESSURE FITTING 5.08$                        
52 B-71805 PRESSURE Cu FITT. GASKET 1.81$                        
53 A-61810-A PRESSURE FITT. TUBE 20cm 2.29$                        

A-06105-K PLASTIC CRANK STUFFER INSERT KIT 41.33$                     



3/3/23 Page 5

 INTAKE MINI SWIFT USA 

 POS PART # DESCRIPTION USA RETAIL 
196 A-61822 CARBURETOR GASKET MINI/BABY-SW 3.56$                        
197 A-61819C CARB. SPACER 21/27x1.5mm 33.48$                     
198 IFB-60500 TIE-ROD M6x49,5 7.85$                        
200 TI-HW-31A TILLOTSON HW31A CARBURETTOR 289.95$                  
202 10751-A RUBBER HOSE WITH FOAM FILTER 43.96$                     
202 10751 RUBBER CONNECTOR WITH NO FOAM FILTER - FOR RAIN USE 38.30$                     
203 A-61819A THERMAL SPACER 26x15mm 16.62$                     
205 B-71822 CARB. GASKET WALBRO/TILL. 3.56$                        
220 A-61742 INLET SILENC. MINI/BABY'10 41.03$                     
221 10753 SHORT AIRBOX INLET TUBE - 22mm 1.23$                        

IAG-50200 ACCELERATOR CABLE RETURN SPRING 5.36$                        



3/3/23 Page 6

 ELECTRONIC STARTER GROUP MINI SWIFT USA 

 POS PART # DESCRIPTION USA RETAIL 
151 00045-K KIT 20 SOCKET H. SCREWS M6X25 4.57$                        

151B 00049-K KIT OF 20 ALLEN SCREWS 6x45 7.18$                        
151C 00044-K KIT 20 ALLEN SCR. CYL. H. 6x20 4.88$                        
152 A-60850A STARTER MOTOR 60cc/80cc 96.00$                     
153 A-60865 ROLLER CAGE TaG 11.28$                     
154 A-60855A BENDIX 60cc/80cc 82.05$                     
158 A-60870 BENDIX SUPPORT 17.09$                     
159 A-60860-C STARTER SUPPORT GAZ/LEV.TaG 117.95$                  
159 A-60860 STARTER SUPPORT MINI SWIFT 125.30$                  

A-60940 STARTER TERMINAL & BOOT 6.19$                        



3/3/23 Page 7

 CLUTCH GROUP MINI SWIFT USA 

 POS PART # DESCRIPTION USA RETAIL 
97 A-60595B CLUTCH GUARD TaG 54.05$                     
98 00048-K KIT OF 20 ALLEN SCREWS 6x40 7.18$                        

102 A-61550US CLUTCH DRUM MINI SW-NO HOLES 98.93$                     
102 A-61550US-C11 CLUTCH DRUM MINI SW-NO HOLES + Z11 SPROCKET 161.30$                  
105 A-61843 PADDED HUB 60cc/62cc 158.19$                  
110 A-60830 STARTER WHEEL Z66 66.00$                     
111 00161-K KIT OF 20 HEX. SCREWS 6x12 7.47$                        
115 D-75573 EXTERNAL WASHER 3.56$                        
116 D-75565 THRUST INT.WASHER H=1,8mm 5.08$                        

118A X30125554-C SPROCKET Z10 W/SCREWS 68.08$                     
118A X30125555-C SPROCKET Z11 W/SCREWS 68.08$                     
119 D-75570 STARTER NUT TaG 7.13$                        
123 B-55598 CLUTCH ROLLER CAGE - SHORT (USE WITH O RING) 13.33$                     
123 A-60565 CRANKSHAFT DRUM O-RING 2.19$                        
123 D-75598 CLUTCH ROLLER CAGE - LONG 13.33$                     
124 A-60560 LOCKING NUT TaG 9.52$                        
125 D-75563 WASHER CONED SAF. TaG 5.08$                        



3/3/23 Page 8

 EXHAUST GROUP & GASKETS MINI SWIFT USA 

 POS PART # DESCRIPTION USA RETAIL 
136 10358 STUDBOLT 6x34 5.08$                        
137 A-61360 EXHAUST GASKET MINI/PUMA-85AUS 8.35$                        
138 A-61365 EXHAUST MANIFOLD MINI-SW 56.86$                     
138 A-85365 EXHAUST HEADER 16MM MICRO SWIFT 71.03$                     
139 00302-K KIT 20 WASHERS M6 1.81$                        
140 10353 EXHAUST SEALING NUT W/TECH WIRE HOLE 7.46$                        
142 EH55160 EXHAUST RETAINING SPRING 2021 SWIFT 7.12$                        

143A A-61715 EXHAUST MINI-SWIFT 143.83$                  
144 A-61720 EXHAUST END MINI-SWIFT 42.86$                     

146A A-61990 GASKETS SET MINI-SWIFT'07 18.30$                     
150 00602 GASKET AREXON 43.59$                     



3/3/23 Page 9

 ELECTRONIC IGNITION PRE '22 MINI SWIFT USA 

 POS PART # DESCRIPTION USA RETAIL 
260 SP-AR50 SPARK PLUG MINI 11.34$                     
261 10544 IAME SPARK PLUG CAP BLACK 13.00$                     
267 00032-K KIT OF 20 SCREWS TCCE 5x20 4.88$                        
268 00031-K KIT OF 20 ALLEN SCREWS M5x16 5.08$                        
269 A-61510 COIL SUPPORT 22.08$                     
270 00376-K 20 SELF LOCK.NUTS KIT M5 3.56$                        
271 00301-K KIT 20 WASHERS M5 1.81$                        
273 A-61955 COIL SELET. BLACK MINI/KA 106.99$                  
274 00034-K KIT OF 20 ALLEN SCREWS 5x25 4.57$                        

276A A-61951 IGNITION SELETTRA MINI '07 134.56$                  
277 A-60875B IGNITION COVER 36.75$                     
278 00043-K KIT OF 20 SCREWS TCCE 6x18 5.08$                        

289A A-60906A-C SUPP.BATT.CLAMP 28mm W/SCREWS 33.23$                     
290 A-60904A BATTERY FIXING BELT 17.09$                     
292 X30125905 BATTERY SUPPORT 41.11$                     
293 00159-K KIT 20 SCREWS TE 6x10 7.47$                        
296 A-61941A RELAY STARTER MOTOR 80Ah 34.32$                     
299 A-61935-C CABLES HARNESS MINI 60cc 94.01$                     
300 X30125925 VELCRO FIXING STRAP 31.77$                     
301 A-61928A GRE.P-BUTON W/CABLES 31.07$                     
302 A-61929A RED P-BUTTON W/CABLES 31.07$                     
303 A-61920 BUTTONS BRACKET 46.81$                     



3/3/23 Page 10

 ELECTRONIC IGNITION '22 MINI SWIFT USA 

 POS PART # DESCRIPTION USA RETAIL 
260 SP-AR50 SPARK PLUG MINI 11.34$                     
260 SP-BR10EG SPARK PLUG NGK BR10EG 12.95$                     
261 10544 IAME SPARK PLUG CAP BLACK 13.00$                     
267 00032-K KIT OF 20 SCREWS TCCE 5x20 4.88$                        
268 00031-K KIT OF 20 ALLEN SCREWS M5x16 5.08$                        
269 A-61510 COIL SUPPORT 22.08$                     
270 00376-K 20 SELF LOCK.NUTS KIT M5 3.56$                        
271 00301-K KIT 20 WASHERS M5 1.81$                        
273 A-61955 COIL SELET. BLACK MINI/KA 106.99$                  
274 00034-K KIT OF 20 ALLEN SCREWS 5x25 4.57$                        

276A A-61951 IGNITION SELETTRA MINI '07 134.56$                  
277 A-60875B IGNITION COVER 36.75$                     
278 00043-K KIT OF 20 SCREWS TCCE 6x18 5.08$                        

289A A-60906A-C SUPP.BATT.CLAMP 28mm W/SCREWS 33.23$                     
290 A-60904A BATTERY FIXING BELT 17.09$                     
292 X30125905 BATTERY SUPPORT 41.11$                     
293 00159-K KIT OF 20 HEXAGONAL SCREWS 6x10 7.47$                        
297 IFE-05600 STARTER CABLE 18.84$                     
298 IFE-05401D STARTER MOTOR CABLE 33.91$                     
299 IFE-05004 CABLE HARNESS DIG. S 127.32$                  
300 IAE-06100 IGNITION ADAPTER 15.52$                     
302 IFI-70101 SECURITY BRACKET 15.86$                     
303 IFI-70001 BUTTONS BRACKET 16.05$                     
304 IFE-05003-PS START BUTTON 43.57$                     
305 IFE-05003-PR STOP BUTTON 43.57$                     



3/3/23 Page 11

 PULLERS & TOOLS MINI SWIFT USA 

 POS PART # DESCRIPTION USA RETAIL 
600 10271 PISTON STROKE LOCKER 38.12$                     
601 B-55614-C CLUTCH PULLER - 03'LEO/KPV/MINI 47.22$                     
602 10202 PISTON PIN PUNCH 12mm 25.05$                     
603 S884 STARTER WHEEL LOCKING TOOL 48.09$                     
604 10121 CIRCLIP INSTALLATION TOOL - MINI 149.05$                  



3/3/23 Page 12

 CRANKSHAFT ASS/DISASEMBLY & TIMING MINI SWIFT USA 

 POS PART # DESCRIPTION USA RETAIL 
650 10110A CRANKSHAFT ASSY TOOL 1,956.82$              
651 10150 CRANK-PIN BUSH 18mm 62.54$                     
661 10107 CRANK-PIN PUSHER 11.66$                     
662 10103 CRANKSHAFT PLATE 60/85/100cc 100.61$                  
664 10100 CRANKSH. DISASSY SUPPORT 167.09$                  
666 10108 CRANKSHAFT INSERT60/85/PV100SW 54.29$                     

690A 10820A TIMING CHECK DISC TaG/REEDSTER 130.03$                  
691A 10828-C TIMING CHECK DISC ADAPTER M10 53.38$                     



3/3/23 Page 13

 TILLOTSON HW-31A CARB MINI SWIFT USA 



3/3/23 Page 14

 TILLOTSON HW-31A CARB MINI SWIFT USA 
 POS PART # DESCRIPTION USA RETAIL 

9 16-B237X DIAPHRAGM GASKET 8.00$                        
10 237-600X DIAPHRAGM 4.91$                        
11 TI-91-1030 DIAPHRAGM COVER
13 16-B392X FUEL PUMP GASKET 24.70$                     
14 TI-237-162X FUEL PUMP DIAPHRAGM 56.94$                     
15 TI-141-89T FUEL PUMP BODY 9.67$                        
16 TI-15C-51X FUEL PUMP BODY SCREW 9.10$                        
17 TI-95-170X FUEL STRAINER SCREEN 9.20$                        
18 TI-16-B205X FUEL STRAINER COVER GASKET 6.60$                        
19 TI-91-A251 FUEL STRAINER COVER 3.04$                        
20 TI-15-B313X FUEL STRAINER COVER RETAINING SCREW 7.10$                        
25 TI-155A-27X INLET CONTROL LEVER 9.60$                        
26 15-C329X FULCRUM LEVER SCREW 6.90$                        
27 TI-233-720P INLET NEEDLE & SEAT SET 15.45$                     
28 16-B199X INLET SEAT GASKET 5.30$                        
29 TI-24-B323X INLET TENSION SPRING 15.80$                     
33 TI-29-224X THROTTLE SHAFT CLIP 9.80$                        
35 15-C19X THROTTLE SHAFT CLIP RETAINING SCREW 8.70$                        
36 TI-24-B381X THROTTLE RETURN SPRING 9.10$                        
37 TI-14-A96 THROTTLE SHUTTER 19.11$                     
38 TI-15-C20X THROTTLE SHUTTER SCREW 8.70$                        
42 TI-13-B215 THROTTLE SHAFT 15.50$                     
43 TI-12-1218 THROTTLE LEVER ASSEMBLY 17.20$                     
44 TI-15-C52X THROTTLE LEVER RETAINING SCREW 12.20$                     
52 TI-179-62 WELCH PLUG
54 TI-80-160X MAIN PLUG 18.05$                     
55 TI-136-559 CABLE BRAKET 20.18$                     
56 15-C67X CABLE BRACKET RETAINING SCREW 8.70$                        
57 15-C9X LIMITER SCREW 22.10$                     
58 TI-24-B131X LIMITER SPRING 6.83$                        
60 TI-81-377 CARBURETTOR MOUNTING NUT 3.00$                        

21A TI-43-1034 IDLE MIXTURE SCREW 10.16$                     
21B TI-24-B449X IDLE MIXTURE SCREW SPRING 5.90$                        
21C TI-78A-256X IDLE MIXTURE SCREW WASHER 7.60$                        
21D TI-44-361X IDLE MIXTURE SCREW PACKING 10.40$                     
26A 32-79X FULCRUM LEVER PIN 5.90$                        
30A TI-43-1034 HIGH SPEED MIXTURE SCREW 10.16$                     
30B TI-24B-449X HIGH SPEED MIXTURE SCREW SPRING 5.90$                        
30C TI-78A-256X HIGH SPEED MIXTURE SCREW WASHER 7.60$                        
30D TI-44-361X HIGH SPEED MIXTURE SCREW PACKING 10.40$                     

24C-334X AUXILIARY CABLE RETURN SPRING 42.45$                     



<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /CMYK
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments true
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /CreateJDFFile false
  /Description <<

    /BGR <>
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000410064006f006200650020005000440046002065876863900275284e8e9ad88d2891cf76845370524d53705237300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef69069752865bc9ad854c18cea76845370524d5370523786557406300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /CZE <>
    /DAN <>
    /DEU <>
    /ESP <>
    /ETI <>
    /FRA <>
    /GRE <>

    /HRV (Za stvaranje Adobe PDF dokumenata najpogodnijih za visokokvalitetni ispis prije tiskanja koristite ove postavke.  Stvoreni PDF dokumenti mogu se otvoriti Acrobat i Adobe Reader 5.0 i kasnijim verzijama.)
    /HUN <>
    /ITA <>
    /JPN <FEFF9ad854c18cea306a30d730ea30d730ec30b951fa529b7528002000410064006f0062006500200050004400460020658766f8306e4f5c6210306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103055308c305f0020005000440046002030d530a130a430eb306f3001004100630072006f0062006100740020304a30883073002000410064006f00620065002000520065006100640065007200200035002e003000204ee5964d3067958b304f30533068304c3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020ace0d488c9c80020c2dcd5d80020c778c1c4c5d00020ac00c7a50020c801d569d55c002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /LTH <>
    /LVI <>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken die zijn geoptimaliseerd voor prepress-afdrukken van hoge kwaliteit. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /POL <>
    /PTB <>
    /RUM <>
    /RUS <>
    /SKY <>
    /SLV <>
    /SUO <>
    /SVE <>
    /TUR <>
    /UKR <>
    /ENU (Use these settings to create Adobe PDF documents best suited for high-quality prepress printing.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /ConvertToCMYK
      /DestinationProfileName ()
      /DestinationProfileSelector /DocumentCMYK
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure false
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles false
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /DocumentCMYK
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /UseDocumentProfile
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


